Anx B - Work Completion Report

Notes: 1. This sheet required i.e., details sign of respective Ed must be sent within a sent by courier).	Date:	Sign:	Approved by	Remarks:	10.	9.	 7.	6.	5.	4.	3.	2.	1.		SI. No.	WO date	WO no.	Block no.	Project/site	Company
replaces installation for cannot be entered above the filter ED member to be filter ED member to go working days of working days of PROJEC	7)dada	Approved by project manager										A-Block	no	Unit/floor	NA	NA	A-Block	Nilgiri Heights	Modi Rea
stallation report and advice for credit to contend above 11 Confin mount greater the first war bureful include - Scham days of work completion (with or without G. VIJAY RAJ PROJECT MANAGER	13/81	WED BY									Flat no - A-902, 903, 908 & 909	Dust shifting for flooring	Floor chipping		Details of work				eights	Modi Realty Pocharam LLP
Notes: 1. This sheet replaces installation report and advice for credit to contractors, 2. This word form must be typed, 3. Use this form even if work order is not issued, 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above 11 (17 of 11) (mount greater than 10k QS manager and directors approval is required, 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to the like and VB pice the fields—Scham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK), 8. Entry of rate ID is mandatory. § This sheet small be sent within 2 writing days of work completion (with or without contractors bill), 10. Contractors to send scanned copy of bill to site and QS by email 11. Contractors must submit original bills at HO (can be sent by courier). PROJECT MANAGER	Date:	Sign:	Approved by QS team								13, 908 & 909 .	ooring				Contractor bill no.	Work done to date	Work done nom date	Nature of Work	Name of contractor
typed. 3. Use this for proval is required. 6. Fachin (for Vivopolis), end scanned copy of bi												5700	5700		Qty		22/07/24	11/0//24	Scattolding	K.Krishna
n even if work or or bill amount le B. anand Kumar (Ill to site and QS)	ם	S	A									Sft	Sft		Units	0	1	7		7.0
der is not issued. 4. Attach measurement and estimate sheets only so than 10k any QS team member may sign and in place of directo (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet by email. 11. Contractors must submit original bills at HO (can be	Date:	Sign:	Approved by Director/E&D team		T							LFT114	CL110		Rate ID	GST bill required?	WO issued?	M-codex bill ID.	Dt. site bills reg.	SI. No. site bills reg.
asurement and esta ber may sign and it rate ID is mandato t submit original bi			/E&D team		Total							3.85	3.00		Rate	No	NA		13/08/24	428
nate sheets only if a place of director ry. 9. This sheet its at HO (can be					39,045							21,945	17,100		Amount					

Bill for Consumables

K.Krishna, Mallapur,Malkagiri Hyderabad.

 $Date:\ 03.08.2024$

In favor of:
Project / Site:
Location:
Pocharam.
Scaffolding Work.
Type of Work:
Scaffolding Work.
Allowance for Consumables

72.13ta V	Description	ON S
JunomA	Brief description of work done: Towards Completion of	.I
Rs. 7,809/-	Floor Chipping and Dust Shifting for Floor og,908,909,	
	Total Amount = 39.045 /-	
	Work done from date 10.07.2024 to 02.08.2024	

Amount in words: Seven Thousand Eight Hundred and Nine Rupees Only.

zıgn:

Can be stored by the stored by

Bill for Equipment Allowance

K.Krishna, Mallapur,Malkagiri Hyderabad.

Date: 03.08.2024.

4575 275 275

\$175

mour

JunomA	Description	.oN S
Rs. 15,618/-	Brief description of work done: Towards Completion of Floor Chipping and Dust Shifting for Flooring in A	.1
1010(01:0)	905,903,908,909	
	$-\sqrt{2}$ 0,6 $\xi = 3$ 9,045	
	Work done from date 10.07.2024 to 02.08.2024	

Amount in words: Fifteen Thousand Six Hundred and Eighteen Rupees Only.

_
:ngi2

Bill for Labour Charges

K.Krishna, Mallapur,Malkagiri Hyderabad.

Date: 03.08.2024.

In favor of:
Project / Site:
Location:
Type of Work:
Type of Work:
Towards:
Labour Charges

JunomA	Description	ONS
701727	Brief description of work done: Towards Completion of	
Rs. 15,618/-	- A ni gnirool Troi gniffing sand Dust gnirght Tool F	
	606,908,908,909	
	$-\sqrt{2}40,9\xi = \text{3montA latoT}$	
	Work done from date 10.07.2024 to 02.08.2024	

Amount in words: Fifteen Thousand Six Hundred and Eighteen Rupees Only.

	21gn:

ECTIMA	ESTIMATE SHEET							Г
Company Name:	Name:	MRPLLP	Prepared by:		Vijay Raj			П
Project:		Nilgiri Heights						
Work Description:	scription:	Floor Chipping and Dust Shifting for Flooring in A - 902,903,908,909	g for Flooring in A - 9	02,903,908	606,			
Contractor Name:	r Name:	K.Krishna						丁
Date:		03-08-2024						T
							!	Т
S.No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Grand Total	Т
	Floor Chipping and Dust Shifting for Flooring in A							Т
								T
	Floor Chimins	Flat No - A - 902	1425	Sft	3	4275		
	Smiden ioni	Flat No - A - 903	1425	Sft	3	4275		T
		Flat No - A - 908	1425	Sft	3	4275		
		Flat No - A - 909	1425	Sft	3	4275		П
6	Dust Shifting for Flooring	Flat No - A - 902	1425	Sft	3.85	5486		
1		Flat No - A - 903	1425	1JS	3.85	5486		T
		Flat No - A - 908	1425	Sft	3.85	5486		T
		Flat No - A - 909	1425	3£	3.85	5486		T
			Total Amount				39045	
	Amount in words :- Thirty Nine Thousand and Forty	nd and Forty Five Rupees Only						
	NOTE: 1 Part I ift charges Rs 0 20 ner floor For 9th Floor - 2,25 + 1,60 = 3,85/-	ner floor For 9th Floor - 2.25 + 1.	60 = 3.85/-					
	NOIE:- I. Dust Lin than gos to: view	TOTAL						



							T	Total Bood	Lucan	1 475	77	1,425	1.425	1.425	1.425	1.425	1.475	1.425	
									1	-	1,								-
								Inite	CITIC	SF		Sft	Sft	Sft	Sft				
								Onantity	\(\)	1 425	27, 12	1,425	1,425	1,425	1.425	1,425	1.425	1,425	
			000	,707				No's		-		1	I	1	1	1	1	1	
	Vijav Pai	and falls	000 000 000	07,500,500			၁	Height		_		1	1	1	1	1	1	1	
			ring in A - 0	W 111 9 111			В	Width		1			1	1	1	1	l	1	
	Prepared hv:		and Dust Shifting for Flooring in A - 902 902 909				A	Length		1,425	1 405	1,425	1,425	1,425	1,425	1,425	1,425	1,425	
	MRPLLP	Nilgiri Heights	Floor Chipping and Dust Sh	K Krishna	Dimini and a second	03-08-2024		Item Description	oring in A - 902,903,908,909	Flat No - A - 902	Elet Mo A DOS	Flat INO - A - 903	Flat No - A - 908	Flat No - A - 909	Flat No - A - 902	Flat No - A - 903	Flat No - A - 908	Flat No - A - 909	
EASUREMENT SHEET								Item Head	Floor Chipping and Dust Shifting for Flooring in A - 902,903,908,909	Floor Chipping					2 Dust Shifting for Flooring				
EASUR	Company Name:	Project:	Work Description:	Contractor Name:		Date:		S.No		1					2				